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Q5a Minor 3™

Q5b Major 6™

Q6a Option 2

Q6b Option 1

Q7a Eb Major

Q7b D Melodic minor

Q8ai major

Q8aii | D major

Q8bi minor

Q8bii | Bb minor

Q9%a Option 4

Q9b Option 1

Q10 0 : | -
G ey

Ql1la | Option 2

Ql1lb | Option1

Ql12a | Fdiminished triad

Q12b | Adominant seventh

Q13 Option 3

Ql4a | Bb major

Ql4b | Option 4 — Compound quadruple

Ql4c | Minor 3™

Ql4d | Option 2 — Imitation
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Q14ei | F major

Ql4eii | Dominant key

Q1l4f | Option 3 — Similar motion

Q15a | Option 2 — Syncopation

Q15b | Option2 — Staccato and then tenuto

Q15c Option 1 — Ostinato

Q15d | Major 7™

Q15e | Option 3 — E major

Q15f | Option 3 — Pedal Note

Q15g | Option 2

Ql6a | Option 2 —Anacrusis

Ql6b | Option 1 -3 semiquavers to be played in the time of a quaver

Ql6c | Option 4 — moderately soft

Ql6di | B minor

Ql6dii | Sub-dominant key

Ql6e | Option 3 —Unison

Qlef D major seventh

Ql6g | Option 2 — Ostinato

Ql6h | Option 4 — F# natural minor followed by G major

Ql17ai | A major

Q17aii | Relative major

Q17b | Option 3 — Fragmentation

Ql7c Double sharp

Q17d | Option 1 - Diminution

Ql17e | Option3
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Q21 Options 1 & 3
Q22i Imperfect cadence
Q22ii Interrupted cadence
Q22iii | Plagal cadence
Q23 POSSIBLE CORRECT ANSWER
(Extension)  (Substitution)
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POSSIBLE CORRECT ANSWER
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POSSIBLE CORRECT ANSWER
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